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(14%) Wearing shoes can help prevent parasites, such as hookworms. However, many children in

developing countries do not own shoes or do not wear shoes regularly.

(a) Suppose the supply of shoes in poor country X is perfectly competitive. Please draw a
supply-demand graph to depict the shoe market in this country X.

(b) On the same graph, please show the change if people in country X become richer. What are some
other factors which might cause the same type of change?

(c) Suppose the supply curve remains the same. Please draw a new graph to describe a situation
when the price of shoes increases anduse words to explain this kind of situation.

(25%) Suppose the market for shoes is a competitive market that every consumer in the market has
the same inverse individual demand function: P =3 - 0.5 QP,

and that every firm in the market has the same inverse individual supply function: P = 0.25 QS - 2.

There are 200 consumers and 25 producers in the market.

(a) Find the market demand and supply functions.

(b) Find the equilibrium price and quantity of shoes.

(c) Find the price elasticities of (market) supply and demand at the equilibrium price and quantity.

(d) Is demand elastic or inelastic at the equilibrium price and quantity? What about supply? Show
your reasoning.

(e) Please draw a clearly-labeled graph of this market and use the graph and words to explain how
things will change if the government imposes a $1 tax on the supplier for each pair of shoes sold
(You do not need to calculate the exact numerical values of new equilibrium price and quantity.)

(11%) Suppose a mother spends all her income on her family’s food (quantity: qF) and clothes
(quantity: g©), and her utility function is U(gF, q€) = qF (q®- 2). If her income is $300, the price of food
is $25 per unit, and the price of clothes is $50 per unit. How many units of food and how many units
of clothes will the mother buy to maximize her utility?
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